Repair Parts

ITEM | PART NO DESCRIPTION QTY [ITEM| PARTNO DESCRIPTION QTY
1 6000202 |Sweeper Housing 1 23 3000716 |1/4" USS Flat Washer 4
2 307120 |Height Adjustment 1 24 3000685 [1/4-20 Nyloc Nut 22
3 307181 |Handle 1 25 307033 [Hitch Tube, Long (incl. 62) 2
4 307113  |Adjustment Lever 1 26 307034 |Hitch Tube, Short 2
5 307042 |Clevis Bar, Flat 2 27 3000543 |3/8-16 x 2" Hex Bolt 4
6 307043 |Clevis Bar, Offset 2 28 3000722 |3/8" USS Curved Washer 10
7 307011  |Wheel (bushings included) 2 29 310061 [3/8-16 Nyloc Nut 11
8 6000540 |Wheel Bushing 4 30 310051 |3/8-16 x 2-3/4" Hex Bolt 2
10 6000539 |Dust Cover 2 3 3000533 |3/8-16 x 1" Hex Bolt 2
12 307241 |Hub Cap 2 32 3000544 |3/8-16 x 3-1/2" Hex Bolt 3
13 307124 |Brush Axle 1 34 6000733 |1/4-20 x 1" Carriage Bolt 8
14 307122 |Brush Bracket 4 37 300081 |Cotter Pin, 1/8" x 1-1/2" 2
15 307121  |Brush Clamp 8 38 307083  [Hairpin 2
16 307321 |Brush 2 59 6000828 |Pinion/Bearing Kit 1
17 307082 [Hitch Pin 1 60 310073  [3/8" USS Flat Washer 4

21 3000721 |3/4" SAE Flat Washer 2 62 6000222 |Snap Button 2
2 3000539 [1/4-20 x 1-1/4" Hex Bolt

REPLACEMENT PARTS ORDERING

-
|

OHIO STEEL INDUSTRIES 1-800-652-2321




Repair Parts

%

39

[

LAWN SWEEPER

O g 427 swa e

( OWNERS MANUAL %

ITEM | PART NO DESCRIPTION QTY [ ITEM | PART NO DESCRIPTION QTyYy
38 307083  |Hairpin 6 55 307032 |Connecting Tube 2
39 307331 Hopper Bag 1 57 307361 Dump Rope 1
45 307061 |Hopper Bar 1 61 6000208 |Snap Button 4
46 307051 Pivot Rod 1 63 6000200 |Owners Manual 1
47 307052 |Tension Rod 2 64 307132 |Hardware Bag-Hitch 1
49 3000818 |(Clevis Pin, 3/8" x 1/2" 2 65 307133 |Hardware Bag-Frame 1
50 3000820 |[Clevis Pin, 1/4" x 1-1/4" 2 66 6000175 |Decal, Lawn Sweeper 1
53 3000720 |3/8" USS Flat Washer 2 67 6000864 |Hopper Frame Kit, 22 cu. ft. 1
54 3000823 |Quick-Release Pin 2

REPLACEMENT PARTS ORDERING

RN
N

OHIO STEEL INDUSTRIES 1-800-652-2321




	Safety
	Content
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View41
	Drawing View42
	Drawing View43

	Assy 1
	Drawing View1
	Drawing View2
	Drawing View3

	Assy 2
	Drawing View4
	Drawing View5
	Drawing View49

	Assy 3
	Drawing View7
	Drawing View8
	Drawing View48

	Assy 4
	Drawing View10
	Drawing View11
	Drawing View12

	Assy 5
	Drawing View13
	Drawing View14

	Ops 1
	Ops 2
	Warr
	Repair 1
	Drawing View44

	Repair 2
	Drawing View45
	Drawing View46




